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POLYNOMIALS

1. Divide : (2% — 4z + 3) by ( x - 1) and verify the division algorithm.

° Watch Video Solution

2. Divide the polynomical 6z* — 44z% + 62 — 3 by the polynomial

22 — 3z 4 1and verify the division algorithm.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tDNa5q1CmmyV
https://dl.doubtnut.com/l/_6PSnoStmAXgo

Self Assessment A Short Answer Type Quesitons |

1. Divide 2z + 3z — 1 by x +1 and find the remainder.

° Watch Video Solution

2. Divide 223 — 522 — 8z + 15 by x-3.

° Watch Video Solution

Self Assessment B Short Answer Type Quesitons i

1.Divide z* — 122% + 0z — 42by 2> — 2z + 1.

° Watch Video Solution

Self Assessment C Long Answer Type Quesitons


https://dl.doubtnut.com/l/_qYLKgFFBwRbv
https://dl.doubtnut.com/l/_7OQzuQu5AeNa
https://dl.doubtnut.com/l/_0ACy27Fg8zu5
https://dl.doubtnut.com/l/_s4jQBfI6Hymj

1. Prove that 2z* — 923 + 212% — 26z + 12 is completely divisible by 2x-

3.

° Watch Video Solution

Self Assessment Objective Type Questions A Multiple Questions

1. If « and B are the roots of the polynomial az? — bz + ¢, where

(a # 0) the value of a + B is

SIS

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_s4jQBfI6Hymj
https://dl.doubtnut.com/l/_3FF3u11CdSUD
https://dl.doubtnut.com/l/_MFy4Qk5rFaw0

2. The sum of the zeroes of the polynomial 222 — 8z + 6 is :

A —3

B.3

D.4

Answer: D

o Watch Video Solution

3. The following figure shows the graph of y= p(x) , where p(x) is a

polynomial in variable x.The number of zeroes of the polynomial p(x) is .


https://dl.doubtnut.com/l/_MFy4Qk5rFaw0
https://dl.doubtnut.com/l/_2ASL8jjeUMsg
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B.3

C.5

D.4

Answer: B

° Watch Video Solution

Self Assessment Objective Type Questions B Fill In The Blanks


https://dl.doubtnut.com/l/_2ASL8jjeUMsg

1. If the quadratic polynomial is az? + bz + ¢, then product of zeroes is

o Watch Video Solution

2. All zeroes of f(x) = z? — 2z are

o Watch Video Solution

3. If one of the zeroes of quadratic polynomial 2 — 2z + k is 2, then

value of k is

o Watch Video Solution

Self Assessment Objective Type Questions C Very Short Answer Type

Questions



https://dl.doubtnut.com/l/_UlN0kasLNjRB
https://dl.doubtnut.com/l/_sNAH02NxM5L8
https://dl.doubtnut.com/l/_dGeaDivOXIez

1. For what value of k, -2 is a zero of the polynomial 3z* + 4z + 2k ?

° Watch Video Solution

2. In the given figure ,the graph of a polynomial p(x) is shown .Find the

number of zeroes of p(x).

¥

¥ % X

A.O
B.1
C.2

D.3


https://dl.doubtnut.com/l/_OIQtcrPdzB9A
https://dl.doubtnut.com/l/_U6Ugu864svKO

Answer: B

° Watch Video Solution

3. If one root of 52> + 13z + k = 0 be the reciprocal of the other root

then the value of k is

o Watch Video Solution

Self Assessment Objective Type Questions li Short Answer Type Questions

1. Find a quadratic polynomial ;the sum and product of whose zeroes are

6 and 9 respectively . Hence find the zeroes.

° Watch Video Solution

2.If @ and f are the zeroes of a polynomial z? — 4,/3z + 3,then find the

valueof a + 8 — apf.


https://dl.doubtnut.com/l/_U6Ugu864svKO
https://dl.doubtnut.com/l/_pzdUBGv6dXwJ
https://dl.doubtnut.com/l/_CoMbNsRbanvL
https://dl.doubtnut.com/l/_pv1R7CppEIHH

A4,/3 -3
B./3—3
C.—-3-43

D.4,/3

Answer: A

o Watch Video Solution

3.If o and B are the zeroes of the polynomial f(z) = z* — 6z + k, find

the value of k, such that o + 8% = 40.

o Watch Video Solution

Self Assessment Objective Type Questions lii Short Answer Type Questions

1
1. Verify whether 23 and 5 are the zeroes of the polynomial

p(z) = 22° — 11z 4 17z — 6.


https://dl.doubtnut.com/l/_pv1R7CppEIHH
https://dl.doubtnut.com/l/_V4ONuPeH7HnF
https://dl.doubtnut.com/l/_veMr8VDcsTdI

° Watch Video Solution

2. Find the zeroes of the quadratic polynomial z*> — 3z — 10 and verify

the relationship between the zeroes and coefficient.

° Watch Video Solution

3. Find the value of k such that the equation
z? — (k+ 6)z + 2(2k — 1) = 0 has sum of the roots equal to half of

their product :

° Watch Video Solution

Self Assessment Objective Type Questions Iv Long Answer Type Questions

1. If candf are the zeros of the polynomial f(z) = 2z + 5z + k

21
satisfying the relation o + 8% 4+ a8 = e , then find the value of k& for


https://dl.doubtnut.com/l/_veMr8VDcsTdI
https://dl.doubtnut.com/l/_gZYOKw6RN2UW
https://dl.doubtnut.com/l/_zXYuOVMhAC83
https://dl.doubtnut.com/l/_yp7iTTM36Z6G

this to be possible.

° Watch Video Solution

2.If o and S are the zeroes of the polynomial 2% + 4z + 3 = 0 ,ind the

polynomial whose zeroes are 1 + g and 1 + had

o Watch Video Solution

Self Assessment Objective Type Questions V Cose Study Bosed Questions

1. Due to heavy storm an electric wire got bent as shown in the figure .It

followed a mathematical shape .Answer the following questions below :


https://dl.doubtnut.com/l/_yp7iTTM36Z6G
https://dl.doubtnut.com/l/_PNdzEV8VRYdz
https://dl.doubtnut.com/l/_6W5tU7Wrsywp
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Name the shape in which the wire is bent .

A. Spiral
B. ellipse
C.linear

D. Parabola

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_6W5tU7Wrsywp

2.Due to heavy storm an electric wire got bent as shown in the figure .It

followed a mathematical shape .Answer the following questions below :

1

How many zeroes are there for the polynomial (shape of the wire)

A.2
B.3
C.1

D.O


https://dl.doubtnut.com/l/_KDgKzotlCr6m

Answer:

° Watch Video Solution

3. Due to heavy storm an electric wire got bent as shown in the figure. It

followed a mathematical shape. Answer the following questions below

The zeroes of the polynomial are

A—1,5
B.—1,3
C.3,5


https://dl.doubtnut.com/l/_KDgKzotlCr6m
https://dl.doubtnut.com/l/_r2WXPMvTL8Ty

Answer:

o Watch Video Solution

4.Due to heavy storm an electric wire got bent as shown in the figure .It

followed a mathematical shape .Answer the following questions below :

Y

i

d| i’
, 4

]

What will be the expression of the polynomial ?

Az?+2r—3

B.z2 — 2z + 3


https://dl.doubtnut.com/l/_r2WXPMvTL8Ty
https://dl.doubtnut.com/l/_pXUBfhpsTKc4

Cz?—-2z-3

D.z2 + 2z + 3

Answer:

o Watch Video Solution

5.Due to heavy storm an electric wire got bent as shown in the figure .It

followed a mathematical shape .Answer the following questions below :

What is the value of the polynomial if x=-17?


https://dl.doubtnut.com/l/_pXUBfhpsTKc4
https://dl.doubtnut.com/l/_7vT5XlrzcOpM

A.6

B.-18

C.18

D.O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7vT5XlrzcOpM

6. Answer the following questions below :

Name the shape of the graph.

A. Linear polynomial

B. Quadratic polynomial

C. Cubic polynomial

D. Parabola

Answer:


https://dl.doubtnut.com/l/_SBDmnQ9aGu8Z

° Watch Video Solution

7. Answer the following questions below :

What is the value of the polynomial if x=-3 ?

A3

B.9

C.o



https://dl.doubtnut.com/l/_SBDmnQ9aGu8Z
https://dl.doubtnut.com/l/_05XliDLzKpC0

Answer:

° Watch Video Solution

8. Answer the following questions below :
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How many zeroes are Here for the polynomial ?

A.O

B.2


https://dl.doubtnut.com/l/_05XliDLzKpC0
https://dl.doubtnut.com/l/_7jwaXMHoQFxB

C.1

Answer:

° Watch Video Solution

9. Answer the following questions below :
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How many zeroes are there for the polynomial ?



https://dl.doubtnut.com/l/_7jwaXMHoQFxB
https://dl.doubtnut.com/l/_Ti1G7VaslxpD

A2
B.3
C.1

D.4

Answer:

o Watch Video Solution

10. Answer the following questions below :

i-1. %

—



https://dl.doubtnut.com/l/_Ti1G7VaslxpD
https://dl.doubtnut.com/l/_ia6azxn5OERY

How many zeroes are there for the polynomial ?

A 4

B.2

C.1

D.3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ia6azxn5OERY

11. Answer the following questions below:
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The zeroes of the polynomial are :

A —20,2

B.—1,0,1

-2, —1,1

D.—2, — 1,2
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HmQzl6g31gUS

12. Answer the following questions below :
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What will be the expression of the polynomial ?

Azx?+2c—3
B.z° + 4z
C.z° — 4x

D.z? — 4z

Answer:


https://dl.doubtnut.com/l/_HmQzl6g31gUS
https://dl.doubtnut.com/l/_h6gpMyNHd98a

° Watch Video Solution

13. Answer the following questions below :

What is the value of the polynomial if x=-3?

A. 39

B.—15

C.o

D.15


https://dl.doubtnut.com/l/_h6gpMyNHd98a
https://dl.doubtnut.com/l/_ztTaBiG1zIBo

Answer:

° Watch Video Solution

14. Answer the following questions below :

A polynomial of degree ... is called a cubic polynomial .

A3

B.2

C.1


https://dl.doubtnut.com/l/_ztTaBiG1zIBo
https://dl.doubtnut.com/l/_3BEffhT0ph7Z

D.4

Answer:

° Watch Video Solution

15. Answer the following questions below :

!,‘r

(-2, m\ 6k {5, &)

Name the


https://dl.doubtnut.com/l/_3BEffhT0ph7Z
https://dl.doubtnut.com/l/_LANCXvVb7aej

shape of the graph .

A. Ellipse

B. Parabola

C.linear

D. Spiral

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_LANCXvVb7aej

16. Answer the following questions below :
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How many zeroes are there for the polynomial (shape of the wire)?

A3

B.1

C.2


https://dl.doubtnut.com/l/_GRDcYbvFt3m4

D.O

Answer:

° Watch Video Solution

17. Answer the following questions below :



https://dl.doubtnut.com/l/_GRDcYbvFt3m4
https://dl.doubtnut.com/l/_4oRwB6Stk5Sr

What is the value of the polynomial if x=-17

A1l

B.2

C.o

D.3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_4oRwB6Stk5Sr

18. Answer the following questions below :

T (L —&)

What is the value of the polynomial if x=-3 ?

A 12

B.13

D.14


https://dl.doubtnut.com/l/_pMRlQCQlBDK2

Answer:

° Watch Video Solution

19. Answer the following questions below :

Y

The highest power of the variable is a polynomial is called the

the polynomial .


https://dl.doubtnut.com/l/_pMRlQCQlBDK2
https://dl.doubtnut.com/l/_RuYZuoeOTVQp

A.degree

B. zero

C.value

D. graph.

Answer: A

° Watch Video Solution

Ncert Corner Exercise 2 1

1. The graphs of y =p(x) are given in figure below , for some polynomials

p(x).Find the number of zeroes of p(x) ,in each case.


https://dl.doubtnut.com/l/_RuYZuoeOTVQp
https://dl.doubtnut.com/l/_J3o6Fm0vGp6Z

° Watch Video Solution

2. The graphs of y =p(x) are given in figure below , for some polynomials

p(x).Find the number of zeroes of p(x) ,in each case.


https://dl.doubtnut.com/l/_J3o6Fm0vGp6Z
https://dl.doubtnut.com/l/_Wqq0rXo6Kw6Y

o Watch Video Solution

3. The graphs of y =p(x) are given in figure below , for some polynomials

p(x).Find the number of zeroes of p(x) ,in each case.


https://dl.doubtnut.com/l/_Wqq0rXo6Kw6Y
https://dl.doubtnut.com/l/_tvrmErcQYy07

° Watch Video Solution

4. The graphs of y =p(x) are given in figure below , for some polynomials

p(x).Find the number of zeroes of p(x) ,in each case.


https://dl.doubtnut.com/l/_tvrmErcQYy07
https://dl.doubtnut.com/l/_qLoXtp5RjTcQ

° Watch Video Solution

5. The graphs of y =p(x) are given in figure below , for some polynomials

p(x).Find the number of zeroes of p(x) ,in each case.


https://dl.doubtnut.com/l/_qLoXtp5RjTcQ
https://dl.doubtnut.com/l/_NbJjCwXlnJsh

o Watch Video Solution

6. The graphs of y =p(x) are given in figure below , for some polynomials

p(x).Find the number of zeroes of p(x) ,in each case.


https://dl.doubtnut.com/l/_NbJjCwXlnJsh
https://dl.doubtnut.com/l/_4quf2JxVlUmA

° Watch Video Solution

Ncert Corner Exercise 2 2

1. Find the zeroes of the following quadratic polynomials and verify the

relationship between the zeroes and the coefficients.

z? — 2z — 8

o Watch Video Solution



https://dl.doubtnut.com/l/_4quf2JxVlUmA
https://dl.doubtnut.com/l/_2eeZJgNEaKZT

2. Find the zeroes of the following quadratic polynomials and verify the
relationship between the zeroes and the coefficients.

45> —4s + 1

° Watch Video Solution

3. Find the zeroes of the following quadratic polynomials and verify the
relationship between the zeroes and the coefficients.

6z — 3 — Tx

° Watch Video Solution

4. Find the zeroes of the following quadratic polynomials and verify the
relationship between the zeroes and the coefficients.

4u? + 8u

° Watch Video Solution



https://dl.doubtnut.com/l/_ctES48XmqX4o
https://dl.doubtnut.com/l/_SIjBYjUApKvN
https://dl.doubtnut.com/l/_PDyCQJsU4M5s
https://dl.doubtnut.com/l/_W09gqzUGWuM5

5. Find the zeroes of the following quadratic polynomials and verify the
relationship between the zeroes and the coefficients.

2 - 15

° Watch Video Solution

6. Find the zeroes of the following quadratic polynomials and verify the
relationship between the zeroes and the coefficients.

322 —z — 4

° Watch Video Solution

7. Find a quadratic polynomial each with the given numbers as the sum

and product of its zeroes respectively.

! 1
47

° Watch Video Solution



https://dl.doubtnut.com/l/_W09gqzUGWuM5
https://dl.doubtnut.com/l/_kIL3LeH980Eb
https://dl.doubtnut.com/l/_QkjFfVsbgNhk

8. Find a quadratic polynomial each with the given numbers as the sum

and product of its zeroes respectively.

1
2. —
f7 3

° Watch Video Solution

9. Find a quadratic polynomial each with the given numbers as the sum

and product of its zeroes respectively.

0,5

° Watch Video Solution

10. Find a quadratic polynomial each with the given numbers as the sum
and product of its zeroes respectively.

1,

° Watch Video Solution



https://dl.doubtnut.com/l/_ZUvqcxtdLhwZ
https://dl.doubtnut.com/l/_L8ORzCtJaKBN
https://dl.doubtnut.com/l/_MwWebUwkCIzc
https://dl.doubtnut.com/l/_09HwFZIrXhEt

11. Find a quadratic polynomial each with the given numbers as the sum

and product of its zeroes respectively.

4’4

° Watch Video Solution

12. Find a quadratic polynomial each with the given numbers as the sum
and product of its zeroes respectively.

4,1

° Watch Video Solution

Ncert Corner Exercise 2 3

1. Divide the polynomial p(x) by the polynomial g(x) and find the quotient

and remainder in each of the following

p(z) = x> — 32° + 5z — 3, g(x) = x> — 2

° Watch Video Solution



https://dl.doubtnut.com/l/_09HwFZIrXhEt
https://dl.doubtnut.com/l/_yYXho224O1nw
https://dl.doubtnut.com/l/_ZcifurhaBpSo

2. Divide the polynomial p(x) by the polynomial g(x) and find the quotient
and remainder in each of the following

p(z) =z* —32° + 4z +5,9(z) =2 +1— =z

° Watch Video Solution

3. Divide the polynomial p(x) by the polynomial g(x) and find the quotient
and remainder in each of the following :p(z) = z* — 5z + 6,

g(x) =2 -2’

° Watch Video Solution

4. Check whether the first polynomial is a factor of the second polynomial
by dividing the second polynomial by the first polynomial

t2 — 3,2t + 383 — 26> — 9t — 12

° Watch Video Solution



https://dl.doubtnut.com/l/_ZcifurhaBpSo
https://dl.doubtnut.com/l/_Ac99PR8YtsB4
https://dl.doubtnut.com/l/_SL5o78NSeHlf
https://dl.doubtnut.com/l/_aaP6xm0qmzxQ

5. Check whether the first polynomial is a factor of the second polynomial
by dividing the second polynomial by the first polynomial

22 + 3z + 1,3z + 52® — 72? + 22 + 2

° Watch Video Solution

6. Check whether the first polynomial is a factor of the second polynomial
by dividing the second polynomial by the first polynomial

22— 3z +1,2° — 42> + 22+ 3z + 1

° Watch Video Solution

7. Obtain all other zeroes of 3z* + 6z° — 222 — 10z — 5, if two of its

5 d )
zeroes are 4 [ zand — [ 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_K6Zk7xyn1bEb
https://dl.doubtnut.com/l/_eEzlQeCl8Lak
https://dl.doubtnut.com/l/_hOkFrFotMpU0

8.0n dividing (ar:3 — 3z 4z + 2) by a polynomial g(x), the quotient and

remainder are (x — 2) and ( — 2z + 4) respectively. Find g(x).

° Watch Video Solution

9. The polynomial p(x) is such that for any polynomial g(x) we have

p(q(z)) = q(p(z)) then p(z) is

° Watch Video Solution

10. Give examples of polynomials p(x), g(x), g(x) and r(x), which satisfy the
division algorithm and (i)
(4) (ii)deg\ p((iv)z(v))\ =\ deg\ q((vi)z(vii))(viiz) (ix) (i) (x)

(xi) d eg"\ "q(( x i i) x (xiii))"\ "="

° Watch Video Solution



https://dl.doubtnut.com/l/_9xh7sbT3vUEr
https://dl.doubtnut.com/l/_crhkvfOKcRoo
https://dl.doubtnut.com/l/_UtJec611PFEg

11. Give examples of polynomials p(x), g(x), g(x) and r(x), which satisfy the
division algorithm and (i)
(it) (éit)deg\ p((iv)z(v))\ =\ deg\ g((vi)z(vii))(viid) (ix) (i) (x)

(xi) d eg"\ "q(( x i i) x (xiii))"\ "="

° Watch Video Solution

Ncert Corner Exercise 2 4

1. Verify that the numbers given alongside of the cubic polynomials below

are their zeroes. Also verify the relationship between the zeroes and the

1
coefficients in each case:(i) 2z°+ 2? — 5z + 2; 3 1, —2 (i)

23 — 42 4 5z — 2; 2\ 1)\

° Watch Video Solution

2. Verify that the numbers given alongside of the cubic polynomials below

are their zeroes. Also verify the relationship between the zeroes and the


https://dl.doubtnut.com/l/_m7XmeLA8cRYT
https://dl.doubtnut.com/l/_oNIE6oN4LKhz
https://dl.doubtnut.com/l/_wirgtA0fplxF

1
coefficients in each case:(i) 2z°+ 2® — 5z + 2; 3 1, —2 (i)

23 — 42 4+ 5z — 2; 2\ 1)\

° Watch Video Solution

3. Find a cubic polynomial with the sum ,sum of the product of its zeroes

taken two at a time ,and the product of its zeroes as 2,7,-14 respectively.

° Watch Video Solution

4. If the zeroes of the polynomial 23— 32> +z+1 are

a\ \ b\ a,\ a\ +\ b,findaandb.

° Watch Video Solution

5. If two zeros of the polynomial f(z) = z* — 62> — 262% + 138z — 35

are 2 + /3, find other zeros.

° Watch Video Solution



https://dl.doubtnut.com/l/_wirgtA0fplxF
https://dl.doubtnut.com/l/_DwN1fP5eHIsr
https://dl.doubtnut.com/l/_KRGAzx2guO9k
https://dl.doubtnut.com/l/_GREmS25AXD6x

6. If the polynomial z* — 623 + 162> — 25z + 10 is divided by another
polynomial 22 — 2z + k , the remainder copies out to be z\ +\ a .

find k and a.

° Watch Video Solution

Ncert Exemplar Exercise 2 1

1.If one of the zeroes of the quadratic polynomial (k — 1)z® + kzx + 1is

-3 ,then the value of k is

-
'3

Answer: A


https://dl.doubtnut.com/l/_GREmS25AXD6x
https://dl.doubtnut.com/l/_SUpu5z63vb9O
https://dl.doubtnut.com/l/_XU2gRZqvwvnb

° Watch Video Solution

2. A quadratic polynomial ,whose zeroes are —3 and 4, is

A.:v2—x+12
B.z2 + z + 12
2
X
C—-=-6
2 2

D.2x% + 2z — 24

Answer: C

o Watch Video Solution

3.1If the zeroes of the quadratic polynomial z* + (a + 1)z + b are 2 and

-3 ,then

A.z? 4+ (a + 1)z + bare 2 and -3 ,then


https://dl.doubtnut.com/l/_XU2gRZqvwvnb
https://dl.doubtnut.com/l/_VGpn06at8z6A
https://dl.doubtnut.com/l/_ZAbXqDPYOfPC

Answer: D

o Watch Video Solution

4.The number of polynomials having zeroes as-2 and 5 is

Al

B.2

C.3

D. more than 3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ZAbXqDPYOfPC
https://dl.doubtnut.com/l/_vIpHeLv0R3CP

5. Given that one of the zereos of the cubic polynomial

az® + bz? + cx + dis zero ;the product of the other two zeroes is

Answer: B

o Watch Video Solution

6. If one of the zereos of the cubic polynomial z* + az? + bz + c is -1,
then the product of the other two zeroes is

Ab—a+1

B.b—a—1

Ca—>b+1


https://dl.doubtnut.com/l/_fHhFApw5Wedt
https://dl.doubtnut.com/l/_8zZtGbu0auWh

D.a —b—1

Answer: A

° Watch Video Solution

7. The zeroes of the quadratic polynomial 2% + 99z + 127 are

A. both positive
B. both negative
C. one positive and one negative

D. both equal

Answer: B

o Watch Video Solution

8. The zeroes of the quadratic polynomial 2 + kz + k where k # 0,


https://dl.doubtnut.com/l/_8zZtGbu0auWh
https://dl.doubtnut.com/l/_eucpYJJYArJC
https://dl.doubtnut.com/l/_ghpn6DMO7EOJ

A. cannot both be positive

B. cannot both be negative

C. are always unequal

D. are always equal

Answer: A

o Watch Video Solution

9. If the zeroes of the quadratic polynomial az? +bx +c,c#0 are
equal,then

A. c and a have opposite signs

B. c and b have opposite signs

C.c and a have the same sign

D.c and b have the same sign

Answer: C



https://dl.doubtnut.com/l/_ghpn6DMO7EOJ
https://dl.doubtnut.com/l/_RDQe3dUpvRul

| o Watch Video Solution

10. I one of the zeroes of a quadratic polynomial of the form 22 + az + b
is the negative of the other,then it

A. has no linear term and the constant term is negative.

B. has no linear term and the constant term is positive.

C. can have a linear term but the constant term is negative.

D. can have a linear term but the constant term is positive.

Answer: A

o Watch Video Solution

11. Which of the following is not the graph of a quadratic polynomial?


https://dl.doubtnut.com/l/_RDQe3dUpvRul
https://dl.doubtnut.com/l/_7Nezm324LJLI
https://dl.doubtnut.com/l/_mOkzs9oRxPNa

I
Be
+

Answer: D

° Watch Video Solution

Ncert Exemplar Exercise 2 2



https://dl.doubtnut.com/l/_mOkzs9oRxPNa

1. Can z? — 1 be the quotient on division of z® +2z° + z — 1 by a

polynomial in x of degree 5?

o Watch Video Solution

2. Answer the following and justify :
What will the quotient and remainder be on division of az? + bz + ¢ by

px® + gz’ +re + s, p # 0?

o Watch Video Solution

3. If on division of a polynomial p(x) by a polynomial g(x), the quotient is

zero, what is the relation between the degrees of p(x) and g(x)?

o Watch Video Solution



https://dl.doubtnut.com/l/_9iYPn4PRHSfJ
https://dl.doubtnut.com/l/_3QmiGzeJVy1y
https://dl.doubtnut.com/l/_c5stPnzn3BpF

4. If on division of a non-zero polynomial p(x) by a polynomial g(x), the
remainder is zero, what is the relation between the degrees of p(x) and

g(x)?

° Watch Video Solution

5. Can a quadratic polynomial 2? + kz + k have equal zeros for some

odd integer k > 1?

° Watch Video Solution

6. Are the following statements True or False Justify your answers.
If the zeroes of a quadratic polynomial az? + bz + ¢ are both positive

;then a b and c all have the same sign .

° Watch Video Solution



https://dl.doubtnut.com/l/_ruOnUSQenOOC
https://dl.doubtnut.com/l/_uLJeBZNli4UE
https://dl.doubtnut.com/l/_O118JKrzkqwd

7. Are the following statements True or False Justify your answers.
If the graph of a polynomial intersects the x- axis at only one point ,it

cannot be a quadratic polynomial .

° Watch Video Solution

8. Are the following statements True or False Justify your answers.
If the graph of a polynomial intersects the x- axis at exactly two points ,it

need not be a quadratic polynomial .

° Watch Video Solution

9. Are the following statements True or False Justify your answers.
If two of the zeroes of a cubic polynomial are zero then it does not have

linear and constant terms.

° Watch Video Solution



https://dl.doubtnut.com/l/_Hjqy9Fl5dmUj
https://dl.doubtnut.com/l/_eW1VQAoIio9l
https://dl.doubtnut.com/l/_JR1TOgAyHA6s
https://dl.doubtnut.com/l/_KHAfiz5wcGTx

10. Are the following statements True or False Justify your answers.
If all the zeroes of a cubic polynomial are negative , then all the

coefficients and the constant term of the polynomial have the same sign.

° Watch Video Solution

11. Are the following statements True or False Justify your answers.
If all three zeroes of a cubic polynomial z* + ax? — bz + ¢ are positive

;then at least one of a ,b and c is non -negative .

° Watch Video Solution

12. Are the following statements True or False Justify your answers.

The only value of k for which the quadratic polynomial kz> + = + k has

1
equal zeroes is 3"

° Watch Video Solution



https://dl.doubtnut.com/l/_KHAfiz5wcGTx
https://dl.doubtnut.com/l/_RDBc2yoQmMXF
https://dl.doubtnut.com/l/_qGunzdqkREIz

Ncert Exemplar Exercise 2 3

1. Find the zeroes of the following polynomials by factorisation method
and verify the relations between the zeroes and the coefficients of the

polynomials

(i) 42> — 3z — 1

o Watch Video Solution

2. Find the zeroes of the following polynomials by factorisation method
and verify the relations between the zeroes and the coefficients of the

polynomials

(ii) 322 + 4z — 4

o Watch Video Solution

3. Find the zeroes of the following polynomials factorisation method and

verify the relations between the zeroes and the coefficients of the


https://dl.doubtnut.com/l/_EX20bNNBfwls
https://dl.doubtnut.com/l/_UtOnBa2H2qRt
https://dl.doubtnut.com/l/_vv0T3ez5dmqU

polynomials.

5t2 + 12t + 7

° Watch Video Solution

4. Find the zeroes of the following polynomials by factorisation method
and verify the relations between the zeroes and the coefficients of the
polynomials

(iv) t6(3) — 2t* — 15t.

° Watch Video Solution

5. Find the zeroes of the following polynomials by factorisation method
and verify the relations between the zeroes and the coefficients of the
polynomials

7 3
2
(v) 2z +§$+Z

° Watch Video Solution



https://dl.doubtnut.com/l/_vv0T3ez5dmqU
https://dl.doubtnut.com/l/_ARkmnbZuy3KC
https://dl.doubtnut.com/l/_RqfMuLmerCTs
https://dl.doubtnut.com/l/_xfXU9wtcc0lg

6. Find the zeroes of the following polynomials by factorisation method
and verify the relations between the zeroes and the coefficients of the
polynomials

(vi) 4z + 5/2X — 3.

o Watch Video Solution

7. Find the zeroes of the following polynomials by factorisation method
and verify the relations between the zeroes and the coefficients of the

polynomials

(vii) 28> — (1 +2v/2)s + /2

o Watch Video Solution

8. Find the zeroes of the following polynomials by factorisation method
and verify the relations between the zeroes and the coefficients of the
polynomials

(viii) v* + 4,/3v — 15



https://dl.doubtnut.com/l/_xfXU9wtcc0lg
https://dl.doubtnut.com/l/_qc6cuynGVYBE
https://dl.doubtnut.com/l/_xqSov95auS1j

| ° Watch Video Solution

9. Find the zeroes of the following polynomials by factorisation method
and verify the relations between the zeroes and the coefficients of the

polynomials

3
(0 y* + 55y — 5

° Watch Video Solution

10. Find the zeroes of the following polynomials by factorisation method

and verify the relations between the zeroes and the coefficients of the

polynomials

00 7o 11 2

X —_— — —_— —
Y373

° Watch Video Solution

Ncert Exemplar Exercise 2 4



https://dl.doubtnut.com/l/_xqSov95auS1j
https://dl.doubtnut.com/l/_T4NvPaE4FPOe
https://dl.doubtnut.com/l/_aZxkJNBHhNcG

1. For each of the following find a quadratic polynomial whose sum and
product respectively of the zeroes are as given .Also find the zeroes of

these polynomials by factorisation.
-8 4
33

o Watch Video Solution

2. For each of the following find a quadratic polynomial whose sum and
product respectively of the zeroes are as given .Also find the zeroes of

these polynomials by factorisation.

21 5
8’16

o Watch Video Solution

3. For each of the following find a quadratic polynomial whose sum and
product respectively of the zeroes are as given .Also find the zeroes of

these polynomials by factorisation.

~2/3, — 9


https://dl.doubtnut.com/l/_uk7NCZfkmzUK
https://dl.doubtnut.com/l/_ddUMjUlTaIsw
https://dl.doubtnut.com/l/_rI56wkSmwpkj

° Watch Video Solution

4. For each of the following find a quadratic polynomial whose sum and
product respectively of the zeroes are as given .Also find the zeroes of

these polynomials by factorisation.
-3 -1
25 2

° Watch Video Solution

5. Given that zeroes of cubic polynomial z* — 622 + 3z + 10 are of the
form a,a+b,a+2b for some real numbers a and b, find the values of a and b

as well as zeroes of the given polynomial.

° Watch Video Solution

6. Given that /2 is a zero of a polynomial 6z + /2z? — 10z — 44/2, find

the other two zeroes.

(e~ |


https://dl.doubtnut.com/l/_rI56wkSmwpkj
https://dl.doubtnut.com/l/_y4fM7Wh1dtDL
https://dl.doubtnut.com/l/_GuhcSg4NCids
https://dl.doubtnut.com/l/_VSgF9bnaAEkv

[ @ Watch Video Solution J

7.Find K, so that 2 + 2z + K is a factor of 2z* + z° — 142> + 5z + 6.

Also find all the zeros of the two polynomials.

° Watch Video Solution

8. Given that = —+/5 is a factor of the cubic polynomial

x> — 34/52% + 13z — 3+/5, find all the zeroes of the polynomial.

° Watch Video Solution

9. For which values of a and b ,are the zeroes of ¢(z) = z* + 22> + a
also the zeroes of the polynomial
p(z) = 2° — z* — 42® + 32° + 3z + b ? Which zeroes of p(x) are not

the zeroes of q(x) ?

° Watch Video Solution



https://dl.doubtnut.com/l/_VSgF9bnaAEkv
https://dl.doubtnut.com/l/_VYLSCZEAQKsU
https://dl.doubtnut.com/l/_yqQ1rydITmwJ
https://dl.doubtnut.com/l/_Z6pl5ureeSjz

Board Corn Short Answer Type Questions

1. Find the wvalue of k such that the equation
z? — (k +6)z + 2(2k — 1) = 0 has sum of the roots equal to half of

their product :

° Watch Video Solution

2. Find all zeroes of the polynomial 3z% + 102> — 9z — 4, if one of its

zerois 1.

° Watch Video Solution

3. For what value of k, in the polynomial

f(z) = 3z* — 92° + 2® + 152 + k completely divisible by 32> — 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_bVhaISBgfNGj
https://dl.doubtnut.com/l/_6YHGAzVQhxWI
https://dl.doubtnut.com/l/_qzylFigNBi6r

11 2
4. Find the zeroes of the quadratic polynomial Ty? — ?y -3 and verify

the relation between the zeroes and the coefficients.

° Watch Video Solution

5. Find all zeroes of the polynomial 2z* — 923 + 5z + 3z — 1 if two of

its zeroes are 2 + /3 and 2 — /3

° Watch Video Solution

Stand Alone Mcqs

1. Q. If one zero of the quadratic polynomial (k — 1)z% + kx + 1 is-3,

then find the value of K

-
'3


https://dl.doubtnut.com/l/_gry5xIHV42ku
https://dl.doubtnut.com/l/_1CGA6AUBhyYO
https://dl.doubtnut.com/l/_OgJTIHjP2KFC

b 2
3
Answer: A

o Watch Video Solution

2. A quadratic polynomial, whose zeroes are -3 and 4, is

Azx:—z+12
B.z2 + x + 12
2
T
C____
2 2 6

D.2x% + 2z — 24

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_OgJTIHjP2KFC
https://dl.doubtnut.com/l/_lsPxq45GdGrO

3. If the zeroes of the quadratic polynomial z? + (a 4+ 1)z + b are 2 and

-3, then
Aa= —T7,b= —1
B.a=50b= —1
Ca=2,b= —6

Answer: D

o Watch Video Solution

4. If one of the zeroes of the cubic polynomial az® + bz? + cz + d is

zero, the product of the other two zeroes is :


https://dl.doubtnut.com/l/_kKLx7cKDx5oe
https://dl.doubtnut.com/l/_2HuCcB5OWZwV

Answer: B

° Watch Video Solution

5. If one of the zeroes of the cubic polynomial & + az? + bz + c is -1,

then the perpendicular of the other two zeroes is

Ab—a-+1
B.b—a—1
Ca—-b+1
D.a —b—1
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2HuCcB5OWZwV
https://dl.doubtnut.com/l/_9NQay0ctqBbh

6. The zeroes of the quadratic polynomial z? + 99z + 127 are

A. both positive
B. both negative
C. one positive and one negative

D. both equal

Answer: B

o Watch Video Solution

7. The zeroes of the quadratic polynomial z® + kx + k, k # 0

A. cannot both be positive
B. cannot both be negative
C. are always unequal

D. are always equal


https://dl.doubtnut.com/l/_JAbTaa5fcFhD
https://dl.doubtnut.com/l/_aQDaiZ2QYj1y

Answer: A

° Watch Video Solution

8. Which of the following is not the graph of a quadratic polynomial?

A.
Iy
B. oo
'
7 f\t__"
C. | |



https://dl.doubtnut.com/l/_aQDaiZ2QYj1y
https://dl.doubtnut.com/l/_X6Ekzs5pd1Cr

Answer: D

° Watch Video Solution

9. What should be subtracted to the polynomial > — 16z + 30, so that

15 is the zero of the resulting polynomial? (a) 30 (b) 14 (c) 15 (d) 16

A 14

B.15

D.30

Answer: B

° Watch Video Solution

Assertion And Reason Based Mcqs



https://dl.doubtnut.com/l/_X6Ekzs5pd1Cr
https://dl.doubtnut.com/l/_Imcp0mNSA16q

1. Assertion (A): Both zeroes of the quadratic polynomial 2 — 2kz + 2
are equal in magnitude but opposite in sign then value of k is 7
. . . —b
Reason(R):Sum of zeroes of a quadratic polynomial az? + bx + cis —
a
A.Both A and R are true and R is the correct explanation for a
B. Both Aand R are true and R is not correct explanation for A.

C.Ais true but R is false.

D. Ais false but R is true

Answer: D

° Watch Video Solution

2. Assertion(A): The sum and product of the zeroes of a quadratic
. -1 1 .

polynomial are T and 1 respectively.

Then the quadratic polynomial is 422 + x + 1

Reason (R):The quadratic polynomial whose sum and product of zeroes

are given is z2-(Sum of zeroes) x+ product of zeroes.


https://dl.doubtnut.com/l/_QSS64wjE0Tju
https://dl.doubtnut.com/l/_0aWW9MtV2CKF

A.Both Aand R are true and R is the correct explanation for a

B. Both A and R are true and R is not correct explanation for A.

C.Ais true but R is false.

D. Ais false but R is true

Answer: A

o Watch Video Solution

3.  Assertion (A) : The zeroes of the polynomial
p(z) = (z — 1)(z — 2)(x — 3) are1,2and 3

Reason (R):The zeroes of a polynomial are the x-coordinates of the points
where the graph of polynomial intersects or touches x-axis or the points

on the graph where p(x)=0

A.Both A and R are true and R is the correct explanation for a
B.Both A and R are true and R is not correct explanation for A.

C.Ais true but R is false.


https://dl.doubtnut.com/l/_0aWW9MtV2CKF
https://dl.doubtnut.com/l/_D6u5idnIwicP

D. Ais false but R is true

Answer: A

o Watch Video Solution

4, Assertion (A): The zeroes of the
p(z) = 2* + 32z? — 4z — 12are-2,2 and 3.
Reason (R):Sum of zeroes = —

and product of zeroes = —
a

polynomial

A.Both A and R are true and R is the correct explanation for a

B.Both A and R are true and R is not correct explanation for A.

C.Ais true but R is false.

D. Ais false but R is true

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_D6u5idnIwicP
https://dl.doubtnut.com/l/_FNgzAb5YCTG5

5. Assertion (A): p(z) = 142® — 22® + 82* + 7z — 3 is a polynomial of
degree 3.
Reason (R):The highest power of x in the polynomial p(x) is the degree of
the polynomial.

A.Both A and R are true and R is the correct explanation for a

B.Both A and R are true and R is not correct explanation for A.

C.Ais true but R is false.

D. Ais false but R is true

Answer: D

o Watch Video Solution

Case Based Mcqgs

1. Read the following text and answer the following questions on the

basis of the same:


https://dl.doubtnut.com/l/_CE2e7p3riFfU
https://dl.doubtnut.com/l/_fsg0dWLYMA1X

Due to heavy storm an electric wire got bent as shown in the figure. It
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A. Spiral
B. ellipse
D. parabola

C.linear
o Watch Video Solution

Name the shape in which the wire is bent

Answer: D



https://dl.doubtnut.com/l/_fsg0dWLYMA1X

2. Read the following text and answer the following questions on the

basis of the same:

Due to heavy storm an electric wire got bent as shown in the figure. It

Eedasmie == =i =d=

PR R T

e L R e TR

i i
Inn_f..llfhl.lrll

followed a mathematical shape. Answer the following questions below:

bmdecbhade = =da
i

[ [ i i
bed e =k =d=

e -

B.3

C.1
D.O

How many zeroes are there or the polynomial (shape of the wire)
A.2


https://dl.doubtnut.com/l/_SfNq2cmm8qdm

Answer: A

° Watch Video Solution

3. Due to heavy storm an electric wire got bent as shown in the figure. It

followed a mathematical shape. Answer the following questions below

The zeroes of the polynomial are

A—1,5
B.—1,3
C.3,5


https://dl.doubtnut.com/l/_SfNq2cmm8qdm
https://dl.doubtnut.com/l/_8R4yF1GbyVko

Answer: B

° Watch Video Solution

4.Due to heavy storm an electric wire got bent as shown in the figure. It

followed a mathematical shape. Answer the following questions below

What will be the expression of the polynomial?

Az?+ 2z —3
B.z2> — 2z + 3
Cz?—-2z-3

D.z2 + 2z + 3


https://dl.doubtnut.com/l/_8R4yF1GbyVko
https://dl.doubtnut.com/l/_JU63q06TCTgM

Answer: C

o Watch Video Solution

5. Read the following text and answer the following questions on the

basis of the same:

Due to heavy storm an electric wire got bent as shown in the figure. It

followed a mathematical shape. Answer the following questions below:

- 1?

What is the value of the parabola if x
A.6


https://dl.doubtnut.com/l/_JU63q06TCTgM
https://dl.doubtnut.com/l/_KUyUlQC3SLm5

B. —18

D.O

Answer: D

° Watch Video Solution

6. Read the following text and answer the following questions on the

basis of the same:


https://dl.doubtnut.com/l/_KUyUlQC3SLm5
https://dl.doubtnut.com/l/_71QDpOIK0Yu2
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Name the shape of the graph

A. Spiral

B. Straight line

C. parabola

D. ellipse

Answer: C

e


https://dl.doubtnut.com/l/_71QDpOIK0Yu2

[ @& \Watch Video Solution ]

7. Read the following text and answer the following questions on the

basis of the same:
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How many zeroes are there for the polynomial?

A3

B.1


https://dl.doubtnut.com/l/_71QDpOIK0Yu2
https://dl.doubtnut.com/l/_bSzAq55De0BK

C.2

D.O

Answer: C

° Watch Video Solution

8. Read the following text and answer the following questions on the

basis of the same:


https://dl.doubtnut.com/l/_bSzAq55De0BK
https://dl.doubtnut.com/l/_p6eX8qT5cVM5
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What is the value of the polynomial if x=-1.

Al

B.2

C.0

D.4

Answer: C


https://dl.doubtnut.com/l/_p6eX8qT5cVM5

o Watch Video Solution

9. Read the following text and answer the following questions on the

basis of the same:
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The highest power of the variable in the polynomial is called....... of the

polynomial.

A.degree


https://dl.doubtnut.com/l/_p6eX8qT5cVM5
https://dl.doubtnut.com/l/_aBhnqRGxOR0a

B. constant

C. coefficients

D. zero

Answer: A

° Watch Video Solution

10. Read the following text and answer the following questions on the

basis of the same:


https://dl.doubtnut.com/l/_aBhnqRGxOR0a
https://dl.doubtnut.com/l/_CkcnSxZJNcZa
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What is the expression for the polynomial?

Az?2—3x+4

B.x2 —3x — 4

Cz?+32+4

D.—z2—3zx+4

Answer: B

[ =


https://dl.doubtnut.com/l/_CkcnSxZJNcZa

| Y Watch Video Solution J

11. The below pictures are few natural examples of parabolic shape which
is represented by a quadratic polynomial. A parabolic arc is an arc in the
shape of a parabola. In structures, their curve represents an efficient
method of load, and so can be found in bridges and the architechture in
a variety of forms.

In the standard form of quadratic polynomial az? + bz + ¢ where ab

and c are

A. all are real numbers


https://dl.doubtnut.com/l/_CkcnSxZJNcZa
https://dl.doubtnut.com/l/_pfyhgmoL4q4x

B. all are rational numbers

C.ais a non zero real numbers a and b and c are any real numbers.

D. all are integers.

Answer: C

o Watch Video Solution

12. The below pictures are few natural examples of parabolic shape which
is represented by a quadratic polynomial. A parabolic arc is an arc in the
shape of a parabola. In structures, their curve represents an efficient
method of load, and so can be found in bridges and the architechture in
a variety of forms.

If the zeroes of the quadratic polynomial are equal, where the


https://dl.doubtnut.com/l/_pfyhgmoL4q4x
https://dl.doubtnut.com/l/_X4qMyNDxHzX1

discriminant D = b* — 4ac, then

AD>0

B.D <0

c.D>0

D.D =0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_X4qMyNDxHzX1

13. The below pictures are few natural examples of parabolic shape which
is represented by a quadratic polynomial. A parabolic arc is an arc in the
shape of a parabola. In structures, their curve represents an efficient
method of load, and so can be found in bridges and the architecture in a
variety of forms
1 . . 2
If &« and — are the zeroes of the quadratic polynomial 22° — a + 8k
a

then kis



https://dl.doubtnut.com/l/_Ie4J8psRnAhs

D.2

Answer: C

o Watch Video Solution

14. The below pictures are few natural examples of parabolic shape which
is represented by a quadratic polynomial. A parabolic arc is an arc in the
shape of a parabola. In structures, their curve represents an efficient
method of load, and so can be found in bridges and the architecture in a

variety of forms


https://dl.doubtnut.com/l/_Ie4J8psRnAhs
https://dl.doubtnut.com/l/_yQZrzzxvYE19

The graph of 2% + 1

A. Intersects x-axis at two distinct points.

B. Touches x-axis at a point.

C. neither touches nor intesecs

D. either touches or intersects x axis

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yQZrzzxvYE19

15. The below pictures are few natural examples of parabolic shape which
is represented by a quadratic polynomial. A parabolic arc is an arc in the
shape of a parabola. In structures, their curve represents an efficient
method of load, and so can be found in bridges and the architecture in a
variety of forms.

If the sum of the roots is —p and the product of the roots is _T then

the quadratic polynomial is



https://dl.doubtnut.com/l/_EPrTy5VBgNGY

Answer: C

o Watch Video Solution

Multiple Choice Questions

8i\/(—8)2—4><3><2
Lifx = 5% 3 , then the required polynomials is :
X

A3z? -8z +2=0

B.3z2+8x —2=0

C.2x2 -8 —-2=0

D.3z22+ 8 +2=0

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_EPrTy5VBgNGY
https://dl.doubtnut.com/l/_hx10JhgEZNUr

2.Find the corfficientof z° in 22 +32z+2=0.

A3

B.2

Answer: C

° View Text Solution

3. In which condition will the polynomial az?+ bz +c =0 be a

quadratic equation ?

Aa+#0


https://dl.doubtnut.com/l/_hx10JhgEZNUr
https://dl.doubtnut.com/l/_XvP86wLRZyVn
https://dl.doubtnut.com/l/_KEvkUsVhwkJZ

D. a=0

Answer: A

° View Text Solution

4. For which value of p will the equation
(p* — 1)z’ +pz+qg=0

not be a quadratic equation ?

A. p=1

B. Both(a) and (b)

D. p=0

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_KEvkUsVhwkJZ
https://dl.doubtnut.com/l/_mJfwwoMStR7j
https://dl.doubtnut.com/l/_jjQbkJ1JWsTK

5. Write the zero of the polynomial
flz) =2z —6.

A—3,2

B.3,2

C.—-3, —2

D.3, — 2

Answer: D

° View Text Solution

6. For what value of k is —4 a zero of the polynomial

flz) =2 —2 — (2k +2)?

A.6

B.9


https://dl.doubtnut.com/l/_jjQbkJ1JWsTK
https://dl.doubtnut.com/l/_BDBCcOdjuQL7

Answer: C

° View Text Solution

7. If aand B are the =zeroes of a polynomial such that

a+ B = —6and aff = — 4,then write the polynomial .

Az —6x—4=0

B.z2 + 6z +4=0

Czl+6x—4=0

D.z2 —6x +4=0

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_BDBCcOdjuQL7
https://dl.doubtnut.com/l/_q7O9ASvW0tIG

8. If o and S are the zeroes of the polynomial f(y) = 2y® + 7y + 5,

write the values of a + 3 + af3 .

Al

Answer: D

° View Text Solution

9.1f 1is a roote of the equation ay? + ay+3=0and 4> +y+b=10,

then ab equals :

A3

B.6


https://dl.doubtnut.com/l/_2jHma1xtjp5z
https://dl.doubtnut.com/l/_UEETj9Ac5Lw7

Answer: A

° View Text Solution

10. The roots of the equation x> +z — p(p+ 1) = 0 where p is a
constant are:

App+1

B.p,—(p+1)

C—-pp+1

D.—p, —(p+1)

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_UEETj9Ac5Lw7
https://dl.doubtnut.com/l/_ZhwrEuxz5BBX

11. The zeroes of the polynomials 22 — 3z — m(m + 3) are:

Amm—+ 3
B.—m,m + 3
c.m, — (m+3)

D.—m, — (m + 3)

Answer: B

° View Text Solution

12. If one of the zeroes of the quadratic polynomial 2?2+ 3z +kis 2,

then the value k is :

A.10
B.—7
Cc.—10


https://dl.doubtnut.com/l/_Fb6sfJ4lLkkR
https://dl.doubtnut.com/l/_qVpDIo1hJfOI

Answer: b

° View Text Solution

13. The quadratic polynomial , the sum of whose zeroes is -5 and their

product is 6,is :

Az?+ 5z + 6
B.z2 — 5z — 6
C.z? -5z +6

D.—z2+ 5z +6

Answer: A

° View Text Solution

1
14. If 3 is a root of the equation z® — kx — 1- 0, then the value of k

is :


https://dl.doubtnut.com/l/_qVpDIo1hJfOI
https://dl.doubtnut.com/l/_Co7JGnAyaGky
https://dl.doubtnut.com/l/_q3V6VmpmiHXY

Answer: A

o View Text Solution

15. The number of polynomial having zeroes as -2 and 5 is :

A1l

B.3

C.2

D. more than 3

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_q3V6VmpmiHXY
https://dl.doubtnut.com/l/_MFYRvrARiWW5

16. Which of the following is a polynomial

A.m2—6\/§+2

1
B./z + —
Z

NG

5
X

D. None of these

Answer: D

° View Text Solution

17. A quadratic polynomial whose zeoes are —3 and 4 ,is :

A.a:2—:c—|—12

B.z2 + x + 12

Czl—z—-12


https://dl.doubtnut.com/l/_MFYRvrARiWW5
https://dl.doubtnut.com/l/_muTf0JVP87ZO
https://dl.doubtnut.com/l/_wnDkJIflKDRH

D.222 + 2z — 9

Answer: C

o View Text Solution

18. Number of zeroes of the polynomial f(x) shown in the figure , are :

A3

B.1


https://dl.doubtnut.com/l/_wnDkJIflKDRH
https://dl.doubtnut.com/l/_74eOZmiWfGBI

C.2

D.O

Answer: B

o View Text Solution

19.1f & and S are the zeroes of the polynomial 52> — 7z + 2, then the

sum of their reciprocals is ......... '

AL
"2

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_74eOZmiWfGBI
https://dl.doubtnut.com/l/_DJHdCUaNIk8K
https://dl.doubtnut.com/l/_270bikd6qQig

20. The graph of a polynomial of degree 3 intersects X - axis at most ......

points .

A 4

B.2

C.3

D. None of these

Answer: B

o View Text Solution

21. The sum and product of the zeroes of the quadratic polynomial

42% — 27z + 3k? are equal then , the value of k is ...

A +3

C.£3


https://dl.doubtnut.com/l/_270bikd6qQig
https://dl.doubtnut.com/l/_hcfHMajUDdAZ

D.O

Answer: B

° View Text Solution

22. If the sum of roots of the polynomial 42> — 2z + (k — 4) is half of

their product , then the value of kiis ...

A.8

C.6

D.5

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_hcfHMajUDdAZ
https://dl.doubtnut.com/l/_XGj5mDyUHXzw

23. If one of the zeroes of the quadratic polynomial

(k—1)2% +kx+1 is — 3,then the value of kis :

W Wk

|
w
|

Answer: A

o View Text Solution

24. A quadratic polynomial , whose zeroes are —3 and 4, is :

A.:c2—ac+12
.’22 X
B.— — = —

2 2 6
Cz?+z+12

D.2z% + 2z — 24


https://dl.doubtnut.com/l/_2RLN1HMYVfHP
https://dl.doubtnut.com/l/_NBRJITs1kZK5

Answer: C

° View Text Solution

25. If the zeroes of the quadratic polynomial z?(a 4 1)z + bare 2 and -3,

then :

B.a=2,b= —6

Ca=50b= —1

D.a=0,b= —6
Answer: C

° View Text Solution

Very Short Answer Type Questions



https://dl.doubtnut.com/l/_NBRJITs1kZK5
https://dl.doubtnut.com/l/_4ZgZmM9fLufn

1.Find a quadratic , the sum and product of whose zeroes are 0 and — /2

respectively .

° View Text Solution

2.If (z + a) is a factor of f(z) = (2$2 + 2az + 5z + 10) find a,

° View Text Solution

3. For what value of k is 3 a zero of the polynomial f(z) = 2z? + = + k ?

° View Text Solution

4. For what value of k is —2 a zero of the polynomial

f(z) = 32% + 4o + 2k ?

° View Text Solution



https://dl.doubtnut.com/l/_pQH5Pyfj2pF7
https://dl.doubtnut.com/l/_I1blDyvSD0g0
https://dl.doubtnut.com/l/_jIAnmOpC3jik
https://dl.doubtnut.com/l/_HsZsd7VM6orV
https://dl.doubtnut.com/l/_hU6T3vYAcXNO

5.1f x + k is the G.CD of 2 — 2z — 15 and 2% 4 27 then find the value

ofk.

° View Text Solution

6.Showthat z = — 3isasolutionofz? +6z +9=0.

° View Text Solution

7. If a8 are the zeroes of a polynomial

a+ B =6 and af = 4, then write down the polynomial .

such that

° View Text Solution

8. Sum of zeroes of the polynomial 22> — 4z + 5 is 4 . Navdeep at once

said "it is false " Do you agree with Navdeep ? Justify

° View Text Solution



https://dl.doubtnut.com/l/_hU6T3vYAcXNO
https://dl.doubtnut.com/l/_rpAncuNduBwo
https://dl.doubtnut.com/l/_Veffd6ZagVGb
https://dl.doubtnut.com/l/_rzrZOEPx9qvZ

9.Find the value of p so that the polynomial pz(z — 3) + 9 = 0 has two

equal roots .

° View Text Solution

10. If the product of the zeroes of a polynomial (a:c2 — 6z — 4) is 4 , find

the value of a..

° View Text Solution

11. Write the polynomial , the product and sum of whose zeroes are

9 3
—5 and —5.

° View Text Solution

12. A group consists of 12 honest people and 8 dishonest people . Write a

quadratic polynomial whose roots are equal to number of honest people


https://dl.doubtnut.com/l/_rzrZOEPx9qvZ
https://dl.doubtnut.com/l/_1rnf7mE8Mt5W
https://dl.doubtnut.com/l/_QyZ1DBoLoUCn
https://dl.doubtnut.com/l/_wbbxbze65IpC
https://dl.doubtnut.com/l/_L4wGdaQpDaS4

and number of dishonest people .

° View Text Solution

13. Manish engages a labour to get some repair worrk . Charges to be
paid forr this worrk are zeroes of the polynomial 2% — 300z + 22500

Find the zeroes of this polynomial .

° View Text Solution

14.Given f(z + 1) = 3z + 5, evaluate f( — 2) and f(z)

° View Text Solution

15.1ff(z) = , then find :

/()

° View Text Solution

2+ 1



https://dl.doubtnut.com/l/_L4wGdaQpDaS4
https://dl.doubtnut.com/l/_58OwGFz3TNWl
https://dl.doubtnut.com/l/_4gqKiCZcVGX9
https://dl.doubtnut.com/l/_Obkpn6CBkoWl

16.Iff(x) = , then find :

flz —1)

2 +1

° View Text Solution

17. Find the remainder when
f(z) = (22° — 32% + Tz — 8)

is divided by g(z) = (z — 1).

° View Text Solution

18.Find the HCF of f(z) = 32> — 272% + 60z and g(z) = = z? — 16.

° View Text Solution

19. Find the factors of the following polynomial

f(z) =223 4 2* — 13z + 6.



https://dl.doubtnut.com/l/_7FTHlfJ4jBdU
https://dl.doubtnut.com/l/_5jOxbHWG0S1Z
https://dl.doubtnut.com/l/_afJx3qbXIrnv
https://dl.doubtnut.com/l/_mfR53SMExKaf

| & View Text Solution I

20. If two zeroes of the polynomial

x® — 42? — 3z + 12 are /3 and — /3 then find the third zero .

o View Text Solution
2 .
2. If z = 3 and t = —3 are zeroes of the polynomial

ax’® +Te + b= 0, find the valueofaandb.

o View Text Solution

Short Answer Type Questions

1. Find the zeroes of given polynomial,

44/32% + 52 —2/3=0

° View Text Solution



https://dl.doubtnut.com/l/_mfR53SMExKaf
https://dl.doubtnut.com/l/_BgoQ87ZQsTpw
https://dl.doubtnut.com/l/_r0HPfJMlEfUT
https://dl.doubtnut.com/l/_iayB5DcHWzpI

2.1f o and B are zeroes of the quadratic polynomial 4z® + 4z + 1, then

find the quadratic polynomial whose zeroes are 2ac and 25 .

° View Text Solution

3. Find the zeroes of the quadratic polynomial 622 — 3 — 7z and verify
the relationship between the zeroes and the coefficients of the

polynomial.

° View Text Solution

4. Solve the quadratic polynomial 222 + az — a? for x.

° View Text Solution

5.If one sero of a polynomial (a2 + 9) z? 4+ 13z + 6a is the reciprocal of

the other, then find the value of a.

| e |


https://dl.doubtnut.com/l/_JjPbQcx398MM
https://dl.doubtnut.com/l/_mXQMCnGv2HRA
https://dl.doubtnut.com/l/_wFzj2SS29Q3P
https://dl.doubtnut.com/l/_LceHY7TGrQiE

I & View Text Solution

6. Find a quadratic polynomial each with the given numbers as the sum

and product of its zeroes respectively :

! 1
47

° View Text Solution

7. Find a quadratic polynomial each with the given numbers as the sum

and product of its zeroes respectively :

1
2. —
f’ 3

° View Text Solution

8. Find the quadratic polynomial , the sum and product of whose seroes

3
are O and — 5 respectively , Hence find the zeroes .

° View Text Solution



https://dl.doubtnut.com/l/_LceHY7TGrQiE
https://dl.doubtnut.com/l/_SR9lXPiTv8Ae
https://dl.doubtnut.com/l/_LxFS3cBzdrO1
https://dl.doubtnut.com/l/_CXxhmtafsWfw

9. Find a cubic polynomial when the sum , sum of the products of its

zeroes taken two at a time and product of its zero are 2,7,-14 respectively

° View Text Solution

10. Solve for x : 3z — 2,/6z +2 = 0

° View Text Solution

1. For what value of k are the roots of the quadratic polynomial

kx(z —2) + 6 = 0 are equal ?

° View Text Solution

122 Find the wvalue of k if (xz—2) is a factor of

f(z) = 3 + 222 — kxz + 10 Also determine whether (z + 5) is also a


https://dl.doubtnut.com/l/_IZafhRixS8tA
https://dl.doubtnut.com/l/_iGmT5hzGJI2t
https://dl.doubtnut.com/l/_QuK8Uky4bJMt
https://dl.doubtnut.com/l/_dE8Dt1Q7zUHR

factor .

° View Text Solution

Long Answer Type Questions

1. On dividing (x?’ — 32+ + 2) by a polynomial g(x) , the quotient and

remainder are (z — 2) and ( — 2z + 4) respectively .Find the value of

g(x).

° View Text Solution

11 2
2. Find the zeroes of the quadratic polynomial 7y — 3V 3 and verify

the relationship between the zeroes and the coefficients.

° View Text Solution



https://dl.doubtnut.com/l/_dE8Dt1Q7zUHR
https://dl.doubtnut.com/l/_svRMe2Xqttm8
https://dl.doubtnut.com/l/_R6oWBdGWhh1v

3.  When divided by (z —3) , the polynomials
(m?’ —px® +x+ 6) and (2:1:3 — 2 — (p+ 3)z — 6) leaves the same

remainder .Find the value of p.

° View Text Solution

4.If(z — 2) is a factor of the expression 2z° + az? + bz — 14 and when

divided by (z — 3) the remainder is 52, find the values of aand b .

° View Text Solution

5. Find the value of k for which the polynomial (k + 4)® + (k + 1)z + 1

has equal roots . Also find these roots .

° View Text Solution



https://dl.doubtnut.com/l/_bgDxfm9zBZpk
https://dl.doubtnut.com/l/_V8xC6pHd8yoH
https://dl.doubtnut.com/l/_SiqEX9l80eN0

6. Find the value of k such that the polynomial
22 — (k4 6)z + 2(2k — 1) has sum of its zeroes equal to half to their

product.

° View Text Solution

Assertion And Reasoning Based Questions

1. Assertion : The degree of the polynomial (z + 4)(z — 2)(z — 3) is 4.

A.Both and Assertion and the Reason are correct and the Reason is
the correct explanation of the Assertion.

B. The Assertion and the Reason are correct but the Reason is not he
correct explanation of the Assertion

C. Assertion is true but the Reason is false

D. Assertion is false but the Reason is true.


https://dl.doubtnut.com/l/_LfPRe6jMZJDO
https://dl.doubtnut.com/l/_CwYYvs2OUWoz

Answer: D

o View Text Solution

2. Assertion : Degree of a zero polynomial is not defined .

Reason : Degree of a non-zero constant polynomial is O.

A. Both and Assertion and the Reason are correct and the Reason is

the correct explanation of the Assertion.

B. The Assertion and the Reason are correct but the Reason is not he

correct explanation of the Assertion

C. Assertion is true but the Reason is false

D. Assertion is false but the Reason is true.

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_CwYYvs2OUWoz
https://dl.doubtnut.com/l/_7x18dVgXgWmL
https://dl.doubtnut.com/l/_6valOduxowXc

3. Assertion :p(z) = 4z — z? 4 52* + 3z — 2 is a polynomial of degree
3.
Reason : The highest power of x in the polynomial p(x) is the degree of
the polynomial .
A.Both and Assertion and the Reason are correct and the Reason is
the correct explanation of the Assertion.
B. The Assertion and the Reason are correct but the Reason is not he
correct explanation of the Assertion

C. Assertion is true but the Reason is false

D. Assertion is false but the Reason is true.

Answer: D

o View Text Solution

4. Assertion : If one zero of polynomial p(x) = (k2 -+ 4):r2 + 13z + 4k is

reciprocal of other ,then k=2.


https://dl.doubtnut.com/l/_6valOduxowXc
https://dl.doubtnut.com/l/_9DqwcinBsy7R

Reason : If (z — a) is a factor of p(x) , then p(a) =0 i.e., a is zero of p(x)

A.Both and Assertion and the Reason are correct and the Reason is
the correct explanation of the Assertion.

B. The Assertion and the Reason are correct but the Reason is not he
correct explanation of the Assertion

C. Assertion is true but the Reason is false

D. Assertion is false but the Reason is true.

Answer: A

o View Text Solution

5.Assertion :z2 + 7x + 12 has no real zeroes .

Reason : A quadratic polynomial can have at the most two zeroes .

A.Both and Assertion and the Reason are correct and the Reason is

the correct explanation of the Assertion.


https://dl.doubtnut.com/l/_9DqwcinBsy7R
https://dl.doubtnut.com/l/_igphtDC1jKJZ

B. The Assertion and the Reason are correct but the Reason is not he

correct explanation of the Assertion

C. Assertion is true but the Reason is false

D. Assertion is false but the Reason is true.

Answer: D

o View Text Solution

Case Based Questions

1. Junk food is an unhealthy food option , that is high in calories and little

dietary fiber , protein ,vitamins , minerals , or other important forms of
nutritional value , A survay was conducted on few students who
consumes junk food , S be the number of students who consumes
healthy food such that a > 8 and o and B are the zeroes of the
quadratic polynomial f(z) = z? — 7z + 10 , then answer the following

questions :


https://dl.doubtnut.com/l/_igphtDC1jKJZ
https://dl.doubtnut.com/l/_NWoUnSgGd0wq

The type of expression of the polynomial in the above statement is :

A. quadratic

B. cubic

C.linear

D. bi-quadratic

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_NWoUnSgGd0wq

2. Junk food is an unhealthy food option , that is high in calories and little
dietary fiber , protein ,vitamins , minerals , or other important forms of
nutritional value , A survay was conducted on few students who
consumes junk food , S be the number of students who consumes
healthy food such that a > 8 and o and B are the zeroes of the
quadratic polynomial f(z) = 2*> — 7z + 10 , then answer the following

questions :

The number of students who consumes junk food are:

A5

B.7


https://dl.doubtnut.com/l/_Q99no9wdQwnO

C.2

D. None of these

Answer: A

° View Text Solution

3. Junk food is an unhealthy food option , that is high in calories and little
dietary fiber , protein ,vitamins , minerals , or other important forms of
nutritional value , A survay was conducted on few students who
consumes junk food , S be the number of students who consumes
healthy food such that a > § and o and B are the zeroes of the
quadratic polynomial f(z) = z® — 7z + 10, then answer the following

questions :


https://dl.doubtnut.com/l/_Q99no9wdQwnO
https://dl.doubtnut.com/l/_PW5F75zK4MrP

The number of students who consumes healthy food are :

A5

B.7

C.2

D. None of these

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_PW5F75zK4MrP

4.)unk food is an unhealthy food option , that is high in calories and little
dietary fiber , protein ,vitamins , minerals , or other important forms of
nutritional value , A survay was conducted on few students who
consumes junk food , S be the number of students who consumes
healthy food such that a > 8 and o and B are the zeroes of the
quadratic polynomial f(z) = 2*> — 7z + 10 , then answer the following

questions :

The quadratic polynomial whose zeroes are —3 and — 4 is:

Az + 4z + 2

B.x2 + Tz + 12


https://dl.doubtnut.com/l/_6eIuSsBc0DKM

Czl—z-12

D. none of these

Answer: C

° View Text Solution

5.Junk food is an unhealthy food option , that is high in calories and little
dietary fiber , protein ,vitamins , minerals , or other important forms of
nutritional value , A survay was conducted on few students who
consumes junk food , S be the number of students who consumes
healthy food such that a > § and o and B are the zeroes of the
quadratic polynomial f(z) = z® — 7z + 10, then answer the following

questions :


https://dl.doubtnut.com/l/_6eIuSsBc0DKM
https://dl.doubtnut.com/l/_U8J7zjgShT1E

If one zero of the polynomial 2 — 5z + 6 is 2 then the other zero is :

A.6
B.3
C.—6

D. None of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_U8J7zjgShT1E

6. Venika saw a creeper on the wall of his grandmother's house , which

was in the shape as shown in the figure :

How many zeroes does the polynomial have ?

A.O

B.2

C.1


https://dl.doubtnut.com/l/_YQ5fvrJ0805Z

D.3

Answer: C

° View Text Solution

7. Venika saw a creeper on the wall of his grandmother's house , which

was in the shape as shown in the figure :


https://dl.doubtnut.com/l/_YQ5fvrJ0805Z
https://dl.doubtnut.com/l/_Yy4G8RUhnAJ0

The zeroes of the polynomial are :

A2 —3

B.2,1

C.—2,3

D.—3,1

Answer: A

| o A\omnnr Panrdk Ol ekl


https://dl.doubtnut.com/l/_Yy4G8RUhnAJ0
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8. Venika saw a creeper on the wall of his grandmother's house , which

was in the shape as shown in the figure :

The expression of the polynomial is :

Az —z—6

B.z —z + 6


https://dl.doubtnut.com/l/_Yy4G8RUhnAJ0
https://dl.doubtnut.com/l/_depM1ozOKPg1

Czl+z—6

D.23 — 2>+ + 6

Answer: B

° View Text Solution

9. Venika saw a creeper on the wall of his grandmother's house , which

was in the shape as shown in the figure :


https://dl.doubtnut.com/l/_depM1ozOKPg1
https://dl.doubtnut.com/l/_fvHRLVEqPZCX

The type of expression of the polynomial is :

A. linear

B. cubic

C. quadratic

D. biquadratic

Answer: C

| o View Text Solution


https://dl.doubtnut.com/l/_fvHRLVEqPZCX

10. Venika saw a creeper on the wall of his grandmother's house , which

was in the shape as shown in the figure :

For what value of x, the value of polynomial is 6 ?

C.Both (a) and (b)


https://dl.doubtnut.com/l/_fvHRLVEqPZCX
https://dl.doubtnut.com/l/_oXtFb9vwO6Il

D. x=2

Answer: C

o View Text Solution

11. For the box to satisfy certain requirements , its length must bee three
metre greater than the width , and its height must be two metre less
than the width.
It width is taken as x , which of the following polynomial represent
volume of box ?
2

Az"—5c —6

B.z> 4 z? — 6z

C.z® — 62° — 6z

D.z2+z +6

Answer: B

| o View Text Solution


https://dl.doubtnut.com/l/_oXtFb9vwO6Il
https://dl.doubtnut.com/l/_kYG1PpxEwql8

12. For the box to satisfy certain requirements , its length must bee three
metre greater than the width , and its height must be two metre less
than the width.
Which of the following polynomial represent the area of paper sheet
used to make box ?

Az?—5x—6

B.2% — 6z% — 6z

C.62% + 4z — 12

D.6z2 + 3z — 4

Answer: B

o View Text Solution

13. For the box to satisfy certain requirements , its length must bee three

metre greater than the width , and its height must be two metre less


https://dl.doubtnut.com/l/_kYG1PpxEwql8
https://dl.doubtnut.com/l/_xN5coceEFXqF
https://dl.doubtnut.com/l/_hhs0eECXh126

than the width.

If the width of box is 3 units , what must be its height ?

A. 1 unit

B. 2 units

C. 3 units

D. 4 units

Answer: A

o View Text Solution

14. For the box to satisfy certain requirements , its length must bee three
metre greater than the width , and its height must be two metre less

than the width.

At the volume of 18 units , what must be its length ?

A. 6 units

B. 4 units


https://dl.doubtnut.com/l/_hhs0eECXh126
https://dl.doubtnut.com/l/_ttP5D9Thrfpc

C. 3 units

D. 2 units

Answer: A

° View Text Solution

15. For the box to satisfy certain requirements , its length must bee three
metre greater than the width , and its height must be two metre less
than the width.
If box is made of a paper sheet , and paper sheet costs Rs 100 per square
unit , then what is the cost of paper used in making box ?

A.Rs 5400

B.Rs 2700

C. Rs 10800

D. Rs 3400

Answer: A


https://dl.doubtnut.com/l/_ttP5D9Thrfpc
https://dl.doubtnut.com/l/_DkvdHbZav3lx

o View Text Solution

16. The tutor in a coaching cnetre was explaning the concept of cubic
polynomial as a cubic polynomial is of the form
az® +bz? +cx +d. A#0 and it has maximum three zeroes . The
zeroes of a cubic polynomial are namely the x - coordinates of the points
where the graph of the polynomial intersects the x -axis .If a, 8 and 7y
are the zeroes of a cubic polynomial az® + bz? + cx + d , then the
relations between their zeroes and their coefficients are

a+pB+v= —b/a

af+py+ay=c/a

afy= —d/a


https://dl.doubtnut.com/l/_DkvdHbZav3lx
https://dl.doubtnut.com/l/_Vbcb9QSIKKhk

Which of the following are the zeroes of the polynomial

22— 4x% — Tz + 107

A —3,1 and 3

B.2, —1 and 5

C.—1,2and —3

D.—2,1 and 5

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_Vbcb9QSIKKhk

17. The tutor in a coaching cnetre was explaning the concept of cubic
polynomial as a cubic polynomial is of the form
az® +bz? +cx +d. A#0 and it has maximum three zeroes . The
zeroes of a cubic polynomial are namely the x - coordinates of the points
where the graph of the polynomial intersects the x -axis .If a, 8 and 7
are the zeroes of a cubic polynomial az® + bz? + cx + d , then the
relations between their zeroes and their coefficients are

a+pB+vy= —b/a

af+py+ay=c/a

afy= —d/a



https://dl.doubtnut.com/l/_1NZEvvfu7hCV

If — 2 and 5 are zeroes of a cubic polynomial then the sum of

— 5

product of zeroes taken two at a time is :

Answer: D

o View Text Solution

18. The tutor in a coaching cnetre was explaning the concept of cubic
polynomial as a cubic polynomial is of the form
az® + bz’ +cx +d. A+#0 and it has maximum three zeroes . The
zeroes of a cubic polynomial are namely the x - coordinates of the points
where the graph of the polynomial intersects the x -axis .If o, 8 and vy
are the zeroes of a cubic polynomial az® + bz? + cx + d , then the

relations between their zeroes and their coefficients are


https://dl.doubtnut.com/l/_1NZEvvfu7hCV
https://dl.doubtnut.com/l/_PWbV42kKS0Zf

a+pB+vy= —b/a
af+py+ay=c/a

afy= —d/a

PO YROMIALS

In which of the following polynomials the sum and product of zeroes are

equal ?

Azd—z2+52—1

B.z° — 4z

C.3z% — 522 — 11z — 3

D. Both (a) and (b)


https://dl.doubtnut.com/l/_PWbV42kKS0Zf

Answer: D

o View Text Solution

19. The tutor in a coaching cnetre was explaning the concept of cubic
polynomial as a cubic polynomial is of the form
ax® + bz’ +cx +d. A+#0 and it has maximum three zeroes . The
zeroes of a cubic polynomial are namely the x - coordinates of the points
where the graph of the polynomial intersects the x -axis .If o, 8 and vy
are the zeroes of a cubic polynomial az® + bz? + cx + d , then the
relations between their zeroes and their coefficients are

a+p+y= —b/a

af +By+ay=c/a

afy= —d/a


https://dl.doubtnut.com/l/_PWbV42kKS0Zf
https://dl.doubtnut.com/l/_ME7yAS3JT3VG

The polynomial whose all the zeroes are same is :

A.:133—|—a:2+:1:—1
B.z° — 322+ 3z — 1
Cx®—b5z2+6zx—1

D.3z% + 22 + 2z — 1

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_ME7yAS3JT3VG

20. The tutor in a coaching cnetre was explaning the concept of cubic
polynomial as a cubic polynomial is of the form
az® +bx? +cx +d. A #0 and it has maximum three zeroes . The
zeroes of a cubic polynomial are namely the x - coordinates of the points
where the graph of the polynomial intersects the x -axis .If a, 8 and 7
are the zeroes of a cubic polynomial az® + bz? + cx + d , then the
relations between their zeroes and their coefficients are

a+pB+vy= —b/a

af+py+ay=c/a

afy= —d/a


https://dl.doubtnut.com/l/_t0Iz9LGJiTOR

L Y RO R AL S

The cubic polynomial , whose graph is as shown below ,is :

Az —522+8 —4
B.z> — Tx? + 11z + 9
C.3z° —4z2>+z -5

D.z°2 — 9

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_t0Iz9LGJiTOR

21. Aboy is playing with rope which moves as shown in the figure below :

y-dos

Al
AT NS

Now give the answers of following questions :

The number of zeroes of the above figure :

A.2

B.3

D.1

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_eesn74H2E6QU
https://dl.doubtnut.com/l/_9Da3Q7jXSh1Z

22. A boy is playing with rope which moves as shown in the figure below :

-

i L
WA AW

Now give the answers of following questions :
1
If above rope cuts x-axis at — 2, 3 1 the polynomial p(x) will be :
A.2z% + 2? — 5z 4 2
B.z% — 2z% — 5z + 2
C.2z% — 2% — bz + 2

D.2z% — 22 — b5z — 2

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_9Da3Q7jXSh1Z

23. A boy is playing with r

ope which moves as shown in the figure below :

y-dis

i L

L

L P

Now give the answers of following questions :

If the boy moves the above rope with more force and its moves along

with polynomial P(x) = 2> — 4z® + 52 — 2, then what are the points on

which it cuts x -axis :

A 2,1

B.2, — 1,1

C. 2]

D.—2, — 1, +1

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_Dn51S0Zjp4N4

24. A boy is playing with rope which moves as shown in the figure below :

yee

[

Now give the answers of following questions :

What are the sum and product of zeroes ?

A 4,2

B. —4,2

C.54

D.4, — 2

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_Dn51S0Zjp4N4
https://dl.doubtnut.com/l/_eUFAnCxwTteh

Passage Based Questions

1. Read the following passage and answer the questions that follows :
A teacher told 10 students to write a polynomial on the black board .
Students wrote

(i) z® + 2

(ii). 2z + 3

(iii). 2° + 2® + 1

(iv):e3 +222 +1

(v):z:2 — 2z —1

(vi)x — 3

(vii) b+ 22+ 1

(vii)z? + 2z + 1

(ix) 213 — x?

(x) zt —1

Based on the information , answer the following questions :

How many students wrote cubic polynomial ?

o View Text Solution



https://dl.doubtnut.com/l/_QovMhZhn7N69

2. Read the following passage and answer the questions that follows :
A teacher told 10 students to write a polynomial on the black board .
Students wrote

(i) z® + 2

(ii). 2z + 3

(i) z* + 2® + 1

(ivz® + 227 + 1

(v)z? — 2z — 1

(vi)x — 3

(vii) z* + 2? + 1

(vii)z? + 2z + 1

(ix) 22° — z°

)zt — 1

Based on the information , answer the following questions :

Divide the polynomial (z* + 2z + 1) by (z + 1)

o View Text Solution



https://dl.doubtnut.com/l/_JwW50O3DxJiT

3. A teacher asked 10 of his students to write a polynomial in one variable

on a paper and tthen to handover the paper . The following were the
answers given by the students :

2¢ 4 3,3z2 4+ Tz + 2,42® + 32> + 2,2 + Bz + 7, Tz + /7,523 — Tz +
Based on the information answer the following questions :

How many of the above ten , are not polynomials ?

o View Text Solution

4. A teacher asked 10 of his students to write a polynomial in one variable

on a paper and tthen to handover the paper . The following were the
answers given by the students :

2¢ 4 3,3z% 4+ Tz + 2,42® + 32> + 2,2 + Bz + 7, Tz + /7,523 — Tz +
Based on the information answer the following questions :

How many of the above ten , are quadratic polynomials ?

o View Text Solution



https://dl.doubtnut.com/l/_6xmriZmVT0a5
https://dl.doubtnut.com/l/_XJDtOfWfUlSA

Self Assessment

1. If « and fBare the zeroes of the quadratic polynomial

p(z) = ax® + bz + c, then evaluate :

a—p

° View Text Solution

2. If o and Bare the zeroes of the quadratic polynomial
p(z) = ax® + bz + c, then evaluate :

a2,8+ (){/82

° View Text Solution

3. If o and fBare the zeroes of the quadratic polynomial
p(z) = ax® + bz + c, then evaluate :

a4+/34

° View Text Solution



https://dl.doubtnut.com/l/_QzXUclYsQqKY
https://dl.doubtnut.com/l/_XuHqQe1gstdz
https://dl.doubtnut.com/l/_DF7gcH5MCGUr

4. If o and Pare the zeroes of the quadratic polynomial

p(z) = az® + bz + ¢, then evaluate :

1 n 1
aa+b aB+0

o View Text Solution

5. If o« and Bare the zeroes of the quadratic polynomial
p(z) = az® + bz + ¢, then evaluate :

+%—2aﬁ

1
o

° View Text Solution

6. If « and PBare the zeroes of the quadratic polynomial

p(z) = az® + bz + ¢, then evaluate :
a? B? «a B
(5+5)(5+3)

o View Text Solution



https://dl.doubtnut.com/l/_DF7gcH5MCGUr
https://dl.doubtnut.com/l/_af13SZUnVj7i
https://dl.doubtnut.com/l/_ETNC6pU0VxIQ
https://dl.doubtnut.com/l/_gH8P1EzAUiRE

7. Find the relation between a and b, if

f(z) = (42® — 3z% + 2az + b) be exactly divisible by (z + 2)

° View Text Solution

8. Find the relation between a and b , if
f(z) = (az® + 3bz® + 8)

be exactly divisible by (z — 2).

° View Text Solution

9. Express :

f(x) = 3z — 42 + 5z + 6 as a polynomial of z + 1

° View Text Solution



https://dl.doubtnut.com/l/_gH8P1EzAUiRE
https://dl.doubtnut.com/l/_vKdO2VZQ0r57
https://dl.doubtnut.com/l/_pbhRcaR1sERT
https://dl.doubtnut.com/l/_QHxXTTD7ZLaZ

10. Express :

f(z) = z* — 2® + 22° — 3z + 1 as a polynomial of z — 3

° View Text Solution

11. Express :

f(z) = 3z* + 42® + 7z? + 8z — 8 as a polynomial of z + 1

° View Text Solution

12. Express :

f(z) = 4z° — 62* + 32> — 5z + 2 as a polynomial of z + 2.

° View Text Solution

3. For f(z)= (22 +2>—52+2) , find the values for

flz) = — 1,1, — 2 and prove that


https://dl.doubtnut.com/l/_rqtS7TW9eirN
https://dl.doubtnut.com/l/_bOIktNEZD4T4
https://dl.doubtnut.com/l/_s5ngNzGWP6Ss
https://dl.doubtnut.com/l/_v2TAgRqmOKSv

f(1) = f(—2) and 2f( - 1) = f(2)

° View Text Solution

14. Obtain all zeroes of the polynomial

flz) = 2z + % — 142% — 19z — 6 if two of its zeroes are -2 and -1.

° View Text Solution

15. Find the polynomial whose zeroes are 1, — 2,3 and — 4.

° View Text Solution

16. Find all the zeroes of the polynomial z* + 32% — 2z — 6, if two of its

zeroes are -y/2 and /2

° View Text Solution



https://dl.doubtnut.com/l/_v2TAgRqmOKSv
https://dl.doubtnut.com/l/_WICtbEFLL0NM
https://dl.doubtnut.com/l/_jVMd57NqiSKB
https://dl.doubtnut.com/l/_FJN28ANpmIJu

17. Find the polynomial whose zeroes 2, — 3,4 and —1

° View Text Solution

18.In the equation f(z) = (m4 + 22% — 1322 — 14z + 24) , two zeroes

are 1and -2 .Find the other zeros .

° View Text Solution

19. Find the zeroes of the following polynomials :

(m4—9w2—|—4a:—|—12) =0

° View Text Solution

20. Find the zeroes of the following polynomials :

(z* — 62° + 122> — 10z +3) = 0

° View Text Solution



https://dl.doubtnut.com/l/_IEcOcvURimYk
https://dl.doubtnut.com/l/_k3lXzKDuzoH3
https://dl.doubtnut.com/l/_Fo2HGSO31iW2
https://dl.doubtnut.com/l/_bMQBwKtlARCk

21. Find the zeroes of the polynomial such that the sum of two of the
zeroes in each polynomial is O:

f(z) = 3 — 5z — 16z + 80

° View Text Solution

22. Find the zeroes of the polynomial such that the sum of two of the
zeroes in each polynomial is O:

f(z) = 423 4 162 — 9z — 36.

° View Text Solution

T+ 3 z—3
23.Find th fxi =
in e zeroes O X|n$_3+6(m+3> 5

o View Text Solution



https://dl.doubtnut.com/l/_bMQBwKtlARCk
https://dl.doubtnut.com/l/_iN47RxpWOzgN
https://dl.doubtnut.com/l/_HKngvT74iZun
https://dl.doubtnut.com/l/_Zg9KJCPPAAtM

24.Find the zeroes of x in

r+1 2 z+1 3

2 +ac—|—1_ 3 +zc—i—1_

5
6

o View Text Solution



https://dl.doubtnut.com/l/_YbFK18yUaOrr

